5M9c - Use all four operations to solve problems involving measure [e.g. mass] using decimal notation, including scaling

Pumpkin Swede

5.3kg 950g

How much heavier is the pumpkin than the swede in

The scales show how much flour is needed for 1 cake.

kilograms? How much flour is needed for 7 cakes in kilograms?
kg kg
200g + kg = 6.1kg 200g + g = 1.1kg

What is the missing mass in kilograms?

kg

What is the missing mass in grams?

g

A small box of cereals weighs 275g and a large box
weighs four times as much.
How much does the large box of cereals weigh in
kilograms?

kg

A 1.1kg cake is cut into & slices.
How much does each slice weigh in grams?




